asym_sam?2

asym_sam4

asym_samb6

run3116 000 resréssion-asvm

30000 30000
- —12(
B —{80
20000 20000
- —10
10000 | 10000
- 60
- 80
o 0
10000 10000 40
20000 20000
: u 20
30000 30000 0
mnnn n | | I | | 11 11 | L1 11 I L1 11 | L1111 | 1111 | L1111 WDDD | | I | | || {'
a0 20 10 © 10 20 30 40 40 60
diff_bpmdaX/um diff_bpmdaYium
oo~ T 30000 |~ e
N | —12( ¥
20000 [ 20000 [ —10(
A —10( ¥
10000 10000 |- g0
i —an B
or or B0
- E.D -
10000 10000
. N 40
20000 |- 20000 [
[ N 20
30000 | 30000 |- N
f | 1111 | 1111 | 1 111 I 1111 | 1 111 | 11 11 | 1 111 i | 1 1 1 | 1 1 1 | 1 1 1 I 11 1 | 1 1 1 | 1 1 ﬂ
30 20 10 © 10 20 30 40 40 -20 0 20 40 60
diff_bpmdaX/um diff_bpmdaYium
diff dithpmélaL
| I B
- = N —12(
N ] 1 |
15000 |- 120 15000 |-
10000 |- —|rol 10000 [
5000 [ 5000 [
of- B0 of-
-5000 |- 40 -5000 |-
10000 [ 20 10000 |-
: [ m .
B [ | n
15[:”:”:' 1 1 | 1111 | | 111 | | 1 1 | 111 | | 111 | | 111 | | 111 | 15DDD [

‘sam24

30000

20000

10000

10000

20000

30000 =

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

||||||||||||||||||||||I||
4DDDDED -40 =20 o 20 40 60

diff_bpmdaX/um

20000

10000

10000

20000

30000

2

-40 =20 1] 20 40 60

difi_bpmdeX/um
diff

15000
10000

5000

=5000

10000

120

100

121

100

120

100

l

: —10
30000
20000 | &0
10000 |

I 60

oF
10000 [~ 40
20000 [

- 20
30000 — B
WDDD_I|||||||||||||||||||||||||||||||||||||||||||||||| D

40 30 -20 10 © 10 20 30 40 50 60

diff_bpmdeYium
diff _ hpmélcY
30000 |-

- —10
20000 |- H
mnnn: 1

— [ |

E n

ol &0
10000 = AD
20000 |-

- 20

- n
30000 u

-I|||||||||||||||||||||||||||||||||||||||||||||||| D

40 -30 -20 -10 O 10 20 30 40 50 60
difi_bpmdaYium

diff_ hpméIf:Y

15000:—
- - {100
mnnn:—
i —{ 80
5000 |-
B 60
b
-5000 |- 49
10000 [ 20
- u
15[:“:":' _II||||||||||||||||||||||||||||||||||||||||||||||| D

20 -10 0 10 20 30 40 50 60
n diff bpmdeY/um
&

30000 m i —70
20000 [~ —60
[ [ |

10000 0
of
10000 [~ 30
N [ |
Ei}DEIEI:—-. 20
30000 - 10
- n
mnnn_llllllllllllll |||||||||||||||||||||||||||||||||| ﬂ
“so 40 -30 20 -10 0 10 20 30 40 50
diff_bpm1 2X/um
d.
30000
B —{10¢
20000 -
B —{a0
10000 |-
N |
B B0
o
10000 40
_ m
20000
- 20
- n
20000 — |
-I|||||||||||||||||||||||||||||||||||||||||||||||| ﬂ
50 -40 -30 -20 -10 © 10 20 30 40 50
diff_bpm1 2X/um
d.
- —80
15000 [ s s =
- —70
10000
- . _E.D
N
5000 50
: |
ol 40
B [ |
- 30
-5000
- 20
mnnn:—
N M"- 10
15nnn_||||||| I ||||||||||||||||||||||||||||||||||| ﬂ
50 4D -30 20 -10 D0 10 20 30 40 50

diff_bpm12X/um



cor_sam?2

cor sam4

cor _samé6

run3l116 000 re

5000

=5000

10

10000 —

II|IIII|IIII|IIIIIIIIIlIIIIlIIIIlIIII i

30 -20 -10 O 10 20 30 40
diff_bpmdaX/um

4000

2000

2000

=4000

_E.Dnnl_lllllI|IIII|IIIIIIIIIlIIIIlIIIIlIIII 0

30 -20 -10 O 10 20 30 40
difi_bpmdaX/um

91

-500

=1000

=1500

=2000

21‘6851011‘““"“‘(3“01'

—a0
[ | - —a0
5000 5000
—70
0 0
~5000 0 =5000
20
10
10000 10000
|III|II {' III|III|III|III|III|III| ﬂ
40 &0 G0 40  -20 o 20 40 &0
diff bpmdaYium difi_bpmdaX/um
diff _ diff_bpmdeX
—a0 [ N
| = s
4000 ap 4000
—50
—70
2000 2000
—60
o 0
[ |
- 2000 - 2000
30
- 4000 20 - 4000
|
10
~6000 ~B0OD
|III|II ﬂ III|III|III|III|III|III| ﬂ
40 60 -0  -40  -20 0 20 40 &0
diff bpmdaYium difi_bpmdaX/um
d. diff
2000 | 2000
1500 - 1500
1000 1000
- —]80 -
500 — 500
of 60 of
~500 -500 |
- 40 -
-1000 =1000 [~
- N
~1500 n 50 ~1500
~2000 ~2000

Sam2468” mWVS dlff e ;ﬂp ﬁ]

5000

= 5000

10000

-40 -30 20 <10 0 10 20 30 40 50 60

4000
2000 - u
B |
ﬂ_
B |
~2o00 | M
4000
| I _
=g000 — u
IIII|IIII|IIIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII
=40 =30 =20 =10 O 10 20 30 40 50 60

.

diff_bpmdaYium

Y

difi_bpmdaYium

I
-30 <20 10 0 10 20 30 40 50 60

diff_bom4eY/um

20

10

1]

20

10

1]

—100

20

1]

- —70
5000 —[B0
: —I50
o 40
| a0
-5000
i 20
B 10
10000
IIII|IIIIIIIIIlIIII|IIII|IIII|IIII|IIII|IIII|IIII ﬂ
50 -40 -30 -20 -10 O 10 20 30 40 50
diff_bpm12X/um
diff_ bpmi2X
i |
—70
4000
—60
2000
—50
0 40
a0
- 2000
20
~4000
i 10
N | ..
-6000
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII ﬂ
50 -40 -30 -20 -10 O 10 20 30 40 50
diff_bpm12X/um
d'
2000 —an
- n
15nn:— o
- n
1000
- [ —|60
- u 50
(e
N 40
- |
-5130: =
- a0
~1000 — ®
- 20
~1500
C 10
~2000 |
:IIII|IIIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII ﬂ

50 —40 -30 -20 -10 © 10 20 30 40 50
diff_bpm12X/um



=

diff_bpm4aX d

&

_bpmd4aY diff_bpmd4eX d

&

bpmdeY diff_ bpm12X

- x2/ndt  42.34/46 : ¥2/ndf  22.46/30 L oy I %@ / ndf 45.9 / 45 : ¥?/ndf  15.25/31 ¥2/ndf  38.58/42
[ 20000 - 7y - H 20000
20000 m p0 1546 + 44.66 i JfH{ p0  -71.35 +95.85 20000 1 ]l f p0  -9.257 + 45.996 i Jfﬂ p0  -68.14 +95.04 p0 -151.5+97.3 " ]
10000 |- p1 -942.6 £ 5.2 10000 -~ }H{F p1 -425.4 + 11.3 10000 |~ p1 -567.1+ 3.3 10000 |-~ w p1 -512.1 4128 p1 303 £9.7 W r
oF oF 't °F +
asym_sam?2 i i o
: - B B 10000 |- t
20000 [~ B } 1 20000 [ it - { I ﬁ
- ’&W 20000 |- h "H]H : 20000 |- - -
_ 1 i - N } - i - B
30000 [ 'A' ) i 30000 1 JH [ 20000 |-
s 30000 [ i N i 30000 [ i [
; |||||||||||||||||||||||||||||| 11 | 111 || i+ I 11 1 | 11 1 | 11 1 I 11 1 | 11 1 | 11 1 mDDD _—| 11 1 | 11 1 I 11 1 I 11 1 | 11 1 | 11 1 | l i | l | l 11 | l | l | l l l | | l l I S| | l l l | l | l | 11 l | l 11 I l l
30 =20 10 1] 10 20 30 40 -40 =20 0 20 40 60 -60 ~40 =20 1] 20 40 60 -40 =20 1] 20 40 60 ~40 =20 0 20 40
diff _bpmdaX diff bpmd4aY  diff_bpmdeX diff bpmdeY diff bpm12X
o0~ ¥2/ndf  39.66/46 ¥2/ndt  22.68/30 20000 = %2 /ndf  40.23/45 ¥2/ndf  19.29/31 ¥2/ndf  26.37/42
C Y, I 'ﬂh
AL p0  39.04 +37.11 PO -56.97 +69.17 S po 54.4 + 35.7 PO -44.95 £70.05 } : PO -2057 £56.02 _
10000 | - 10000 - t _ HH ll
Z p1 ~632.7 + 4.3 p1 262 + 8.1 } * - [ p1 -388.1+ 2.6 pt 276 + 9.4 p1 4059 157 HJr
: OO0 [ = H = -
o - 1 * o - H 5000 o
4 | of | | oF oF
asym Sam 10000 = [ 10000 — - -
i ﬂﬂﬂ ‘HT ~5000 :— _} H{+ - +|]++++]L* # ~5000 — + H1 ~5000 5
[ B - 20000 h i ’ 10000
20000 : + oo - H : J 10000 - - { -
A ¥ - A 15000 |
d _ : d _ - -
30000 H 11| | 1111 | L1111 I L1111 I L1111 | 1111 | 1111 | 1111 | 15000 [ I 11 1 | 11 1 | 11 1 I 11 1 | 11 1 | 11 1 30000 —l 11 1 | 1 1 1 I 11 1 I 1 1 1 | 1 1 1 | 1 1 1 | | 15000 1 1 1 | 11 1 | 1 1 | 1 1 | 11 1 I L 1 | 1 1 | 1 1 | 11 1 | 11 | I L1
-30 <20 10 1] 10 20 a0 40 ~40 -20 0 20 40 60 -60 -40 =20 1] 20 40 60 ~40 =20 1] 20 40 60 ~40 =20 0 20 40
dlthpmélaL diff bpm4aY dlthpméﬁL diff_bpmdeY diff_
% / ndf 49.7 | 46 @indf  23.98/30 y2indf 557645 32 / ndf 19.89 / 31 woo b ¥2/ndf 4021/ 42
PO -4.229 4 21.042 + j‘{ PO 8.913 + 34.062 : PO -2.948 % 21.655 h’q p0  7.858 + 33.558 - 6000 [ p0  49.07 +39.63
tht+ - tl, -
p1 353.2 + 25 fi p1 230.1+ 4.0 ++ | p1 211.94 1.5 ft p1 272.2 + 45 4000 = _ | 1‘1+ p1 -111.4 £ 3.9
i 5000 [ HH} T 5000 [ i 2000 - “H {
6 " 5 of | ™ +
asym_sam ; of | of e
~5000 I LH:’ 5000 |- leHJr =5000 [~ 5000 |- w ~4000 |- |~
- 'l' — - B -
i 1 - T A L ~6000 |
10000 = +JL+++ 10000 [ -HH 10000 - 10000 [ -} Jj - !
- - B B [ - -8000 =
T 111 | 1111 | L1111 I 11 | L1111 | 1111 | L1 1 | | 111 | | I B : 11 1 | 11 1 | 1 1 | 1 1 | 11 1 I L 1 | 1 1 | 1 1 | 11 1 | 11 | I L1
-20) 1] 20 40 60 ~40) -20 0 20 40

mé

run3116 000 resression asvm sam2468 vs dﬁﬁ‘ “bpm-fit.pn



cor_sam?2

cor sam4

cor _samé6

run3116 000 resression cor

diff_bpmd4aX

i | |

y2/ndf 4552746
PO 32.22 + 26.69
o1 1.436 + 3.132
WMW
~1000 — } -
2000 —
=3000 :—

diff_bpmdaX

2000

1000

=1000

=2000

TIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|

30 =20 10

TIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|

o

10 20 30 40

x= f ndf 56.6 7 46
p0 17.55 £ 15.88
p1 -0.6336 £ 1.8716

Ty
j m

|

-30 <20 10

10 20 a0 40

diff_bpm4aX

w2 | ndf 43.01 / 46
p0 -24.74 + 495
p1 0.2386 + 0.6127

[ } |I||'+ 7
=500 —
1000

=1500

1—III|IIII|IIII|III

diff_bpmdaY

%2/ ndf 2419 /30

p0 24.69 + 26.86

p1 0.9968 + 3.1637
3000 |

:mnnf— | 1

mnnf— ] R

F - k oty ‘

=1000 f— )
2000 E—

p0

p1

-40 =20 0

diff_bpmdaY

%2 [ ndf

2312730

16.79 £ 16.01

0.4813 = 1.8888

20

=1000

=2000

=3000

=4000

=5000

60

E_

-20 0

20

60

diff_bpmdaY

po

p1

w2/ ndf

43.54 /30

-27.05 £ 5.03

0.3235 £ 0.6017

el

- 500

=1000

=1500

=2000

- sam

2468

diff_bpmdeX

diff_bpmde

v2/ndf  33.07/45
p0 07.91+ 26.78
p1 1.164 + 1.906 | |
II]-— l
i { }
=1000 :—
2000 :— --
:l I_I 1 | L1 1 I L1 1 I L1 1 | L1 1 | L1 1 | |
B0 =4 =20 1] 20 40 60

diff

3000

2000

1000

=1000

= 2000

=3000

_bpmdeX

E

3000

2000

1000

=1000

F 2 ndf 47.23 /45
‘ p0 18.41+ 15.89
_ p1 ~0.6342 +1.1399
i | L

J} H}h W%‘w%w N
1

diff_bpmdeX

p0

pl

%2/ ndf

36.23 / 45

-23.51 £ 496

0.1174 £ 0.3732

=500

=1000

“vs diff bom-:

fit.pne °

%2/ ndf 20.8 / 31 ]
p0  22.65+26.96
p1 1.988 + 3.669
2000 ‘r | +
LA
1
=2000 +
=4000 — |
11 l | l 11 | l | l | l l l | | l l I
-40 =20 1] 20 40 60
2ind 3242731
p0 19.1 £ 16.0 % }‘
Pl 0.5679 £ 2.1774 FJ#H |
~1000 *[ | } |
=2000 — | )
=3000
=4000
- o000 __I L1 | 11 1 | 1 1 | 1 1 | 11 _I I
~40 =20 1] 20 40 60
diff bpmdeY
¥2/ndf  39.11/31
p0  -27.98 +5.04 h
p1 0.416 + 0.698 M{W
500 -
=1000 —
=1500 —
= 2000 = -
i 11 1 | 11 1 | 1 1 | 1 1 | 11 1 I
-20) 1] 20 40 60

=2000

=3000

~4000

_bpm12X

%2 / ndf

p0

42.92 /42

30.97 + 26.85

-2.992 + 2.687

i

~40 =20

0

20

diff_bpm12X

40

- ¥2/ndf 403242

! p0  8.043 + 16.011
2000 —

- p1  —1.008 +1.612
1000 _— {

oL }N f t } H [l|-

i it
—1[?(](]:— 1 ‘|
—Eﬂﬂﬂ_—'l"'l"'l"'l"'l"

=40 =20 (1] 20 40

:
:

1000

500

=
:1

—_

- 500

=1000

=
LI I I 1T T 1 I L I T 1T T 1 I 1T T 1 I T 1T 1

+

¥2 / ndf 44.42 | 42
p0 ~26.26 + 5.02
pl  —0.3585 + 0.5018

~40) -20

0

20 40




30000 F 30000 30000 | . 30000 30000
20000 F - 20000 20000 20000 | 20000 [
10000 | 10000 10000 | 10000 | 10000
= 0 = = o
as:; _Sa 10000 - 10000 10000 - 10000 |- 10000 [
20000 20000 20000 20000 [ 20000
30000 [ EEE 30000 30000 [ R 30000 [ 30000
mnnn_llllll||||||||||||||||||||||||||||.||| WDDD WDDD_I 1 1 | | I | | 1 1 1 | | I | | | I | | | |-| | WDDD_I|||||||||||||||||||||||||-||||||||||||||||||||||| mnnn_I|||||||||||||||.|||||||||||||||||||||||||||||||||
a0  -20 -10 0 10 20 30 40 “60 40 -20 0 20 40 60 “40 -30 -20 -10 ©0 10 20 30 40 50 &0 50 -40 -30 -20 -10 0 10 20 30 40 50
difi_bpmaax/um diff_bpmda'ium difi_bpmaaX/um difi_bpmaaY/um diff_bpm12X/um
iff i iff bpmdeX iff bpmdeY iff
30000 [ 30000 - — 30000 - — 30000 - — 30000 [~
20000 . -0 20000 [ . 20000 - 20000 [ 20000 [
10000 10000 |- 10000 |- 10000 [ 10000 |-
of of of of of
) — 10000 [~ 10000 - 10000 |- 10000 |- 10000 [~
20000 |- e 20000 [ 20000 |- R 20000 |- S 20000 N
30000 : 30000 : 30000 : 30000 : 30000
-||||||||||||||||||||||||||||||||||||| -||||||||||||||||||||||| -|||||||||||||||||||||||| -||||||||||||||||||||||||||||||||||||||||||||||||| -|||||||||||||||||||||||||||||||||||||||||||||||||
30 -20 -10 0 10 20 30 40 40 -20 0 20 40 B0 60  -40  -20 0 20 40 60 40 -30 -20 -10 0 10 20 30 40 50 &0 50 -40 -30 -20 -10 0 10 20 30 40 50
diff_bpmdax/um diff_bpmda'ium diff_bpmdex/um diff_bpmaday/um diff_bpm12X/um
' ' iff iff bpmdeY iff
[ — B — B B — |
15000 [ L 15000 |- o 15000 |- 15000 |- o 15000 |-
10000 |- 10000 [ Sy 10000 |- 10000 [ 10000 [
5000 [ 5000 [ 5000 [ 5000 [ 5000 [
4ASYII_Sain F o °F of oF
-5000 |- -5000 |- -5000 |- -5000 |- -5000 |-
10000 10000 TR 10000 LT o000 |- 10000 |- _
15[:”:'0 11 | 1111 | | 111 | | 11 | 111 | | 1 11 | | 111 | | 111 |

run3116 000 resréssion-asvm sam2468- vs diff ‘bpmsscat.pis’ @ wiks e




5000 — 5000 — 5000 5000 5000 —
o o o of o
COr Sda - - _ _ _
5000 |- 5000 |~ 5000 - 5000 |- 5000 —
10000 10000 |- 10000 | 10000 |- 10000 |-
II|IIII|IIII|IIII|IIII|IIII|IIII|IIII |III|III|III|III|III|II III|III|III|III|III|III| IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII
30 -20 -0 0 10 20 30 40 40 -20 0 20 40 B0 60 40 -20 0 20 40 [ 40 -30 -20 -10 © 10 20 30 40 50 60 50 -40 -30 -20 -10 0 10 20 30 40 50
diff_bpmdaXium diff_bpmdaYium diff_bpmdaX/um diff_bpmdaYium diff_bpm12X/um
. . . ! ff ] I Y .
00 - LR 4000 |- T 4000 S 4000 |- T 4000 |-
2000 — 2000 — 2000 2000 2000 —
o o of of ] o
— -2000 |- L 2000 |- ~2000 |- -2000 |- ~2000 |-
~4000 | S 4000 - LT ~4000 | Lo LT ~4000 |- ~4000 BERIEE LR
_E.Dnnl_lllllI|IIII|IIIIIIIIIlIIIIlIIIIlIIII _E.DDD_lIII|III|III|III|III|II _EDDD_III|III|III|III|III|III| _EIDDD_IIII|IIII|IIIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII _ﬁﬂnn_IIII|IIIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII
30 -20 -0 0 10 20 30 40 40  -20 0 20 40 B0 60 40  -20 0 20 40 60 40 -30 -20 -10 ©0 10 20 30 40 50 60 50 -40 -30 -20 -10 0 10 20 30 40 50
diff_bpmdaXium diff_bpmdaYium diff_bpmdaXium diff_bpmdaYium diff_bpm12X/um
. [bf . . . ff .
- - I - I - - [
2000 2000 2000 2000 2000
1500 1500 1500 1500 | 1500 i
1000 1000 1000 : : 1000 | 1000
500 500 — so0fF 500 500
of oF o - of oF
cor Sam ~500 -500 ~500 ' 500 500
~1000 ~1000 ~1000 ~1000 ~1000
-1500 ~1500 ~1500 ~1500 [ ~1500
-2000 [ ~2000 ~2000 - 2000 ~2000
:II|IIII|IIII|IIII IIII|IIII|IIII|IIII :ll - III|III|III| : |III|IIIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII :IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

-20 -10 0 10 20 30 40 50 60 -0 40 30 -20 10 0 10 20 30 40 50

“bopm-scat.png

run3116 000 resréssion—cor sam2468



asym_sam1

asym_sam3

asym_samd

asym_sam’7/

=2000

-4000

-6000

~8000

10000

12000

14000 30 20 10

40000

20000

20000

0000

60000

0 10 20 30 40
diff_bpm4aX/um

30 =20 -10

91

12000

10000

8000

6000

4000

2000

=2000

=4000

-6000

~B000

1] 10 20 a0 40
diff_bpmdaxsum

30 =20 -10

dift_

15000

10000

5000

=5000

10000

15000

0 10 20 30 40
diff_bpmdaX/um

run3116 000 regression-asym sam

20

10

1]

—35(

—25(

— 200

15(

100

o

—35(

—25(

200

150

100

:
%

8000 | 8000 —lap 8000 |-
= = . |
- _.5{:": - -
BO00 8000 G000 [
- n —80 n
4000 | 4000 - 4000
- _ n —{70 -
2000 - 40t 2000 - 2000 |
oF ofm % oF
2000 300 2000 . -2000
-4000 -4000 ~4000 [
-6000 20( ~6000 ~B000 [
~B000 -8000 | ~B000 |
— - — - 20 N -
10000 100 10000 10000
12000 m 12000 | | 10 12000 n
14000 :l | I | | | I | | | I | I 11 1 | 1 1 1 | 1 1 ﬂ 14000 :I 1 1 | 1 1 1 |I 1 1 | 1 1 1 |I | | | 1 1 1 | ﬂ 14DDD 1III|IIII|III”IIII|IIII|IIIIhIII|IIII|IIII|HII
40 _20 0 20 40 &0 60 -40  -20 0 20 40 &0 40 =30 -20 -10 O 10 20 30 40 50 B0
diff_bpmda¥ium diff _bpmdeX/um diff_bom4eY/um
[ [ — —150C i —
BO000 —a0 BO000 &0000
- __Eﬂ - -
40000 40000 —40( 40000 [~
- __I"'D - -
- - - u
20000 20000 20000
- |60 - —lanc i
B . 4ﬂ B ED[ B .
20000 : 20000 20000 -
- 30 - -
40000 40000 40000
- 20 - 100 -
B0000 10 60000 &0000 1
B B B [ |
i | | I | | 1 1 ﬂ _I 1 1 |I 1 1 | 1 1 1 | | I | | 11 I| | I | | ﬂ 1III|IIH|IIIIIHIIlIIII|IHI|IIIIhIII|IIII|HII
40 40 &0 60  -40  -20 0 20 40 B0 40 -30 -20 -10 0 10 20 30 40 50 B0
difi_bpmda¥ium diff bpmdeX/um diff_bomdaY/um
diff_ diff_ diff_bpmdeY
12000 —50( 12000 12000 |
10000 | u 10000 | u 7] 10000 | m
8000 | —sor 8000 8000 |-
BOD0 [ BO0D BOOD
4000 |- oo 4000 |- 4000 1
2000 2000 2000
o ok o
- 20( n -
2000 2000 - 2000
_ap00 - ~4000 [ ~4000 [
- 10( - B
~BO0D -B000 -6000 —
~B0O0 | -Bo00 | ~go00 |
i A T T T T T O N I O B A 0 I T N T N O N A O B O B B 0 G b bvrnberee v b brvwe bevn bvvea e
40 20 0 20 40 &0 60  -40  -20 0 20 40 &0 40 -30 -20 -10 0 10 20 30 40 50 60
diff_bpmda¥ium diff_bpmdeX/um diff_bpmdaY/um
diff bpmdaY diff_ diff_bpmdeY
- —10¢ : n
N - —35( -
15000 |- 15000 |- 15000 |-
- —so - a0 -
10000 10000 10000
B n B B n
- - —25( -
5000 n 5000 5000 [ m
B —60 B B
- - 20( -
i b o
- 40 - 15( n
~5000 [ ~5000 - ~5000 [
[ [ 101 N
10000 10000 10000
- 20 - -
- - 50 -
15000 — 15000 [ 15000
-l 1 1 B [ |HII|III”IIII|IHIlIIIIhIIIlIIHlIIIIlHII

am1357-vs diff bpm=COLZ.png "~ =+

200

100

1]

20

10

1]

—|45(

—35(

25(

200

15(

100

50

o

20

10

1]

- L
8000 —{12¢
&000 |
ADO0D - — 100
2000 —
- m —80
{F;'. I
-2000 F
- m
~4000 |
-B000
~BOOD
10000 | " 20
12000 N
14nnn jIII|IIIIIIII”IIII|IIII|IIIIhIII|IIII|IIII|HII ﬂ
S50 40 -30 -20 -10 O 10 20 30 40 50
diff_bpm12X/um
diff_ bpmi12X
| L
BOO00 —l80
40000 — |70
i —60
20000
- —50
D __
i 40
20000
. a0
40000 — a0
E0000 — 10
B |
7III|IIIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII ﬂ
50 -40 -30 -20 -10 0 10 20 30 40 50
diff_bpm12X/um
difL
12000 & - |
10000 | m
8000 | —180
BO00
[ u —
4000 : - &0
2000 -
‘m
0 :_ ] 40
-2000
~4000
- 20
~6000
n n n
~BOO0 "
G oo b boe e b oo b Leeaa b 0
50 -40 -30 -20 -10 O 10 20 30 40 50
diff_bpm12X/um
-
15000 1%
a —70
10000
N — 60
5000
a —150
o
- 40
~5000 5 10
10000 o
15000 [— 10
jIII|IIIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII ﬂ

-0 40 30 -20 10 0 10 20 30 40 50
diff_bpm12X/um



cor saml

cor sam3

cor_samJd

cor_sam?

run3116 000 r

1000

500

=500

=1000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

=1500

| 1111 | 1111 | 1 111 I 1111 | 1 111 | 1111 | 1111
T ST —T — 10 20 30 40
diff_bpm4aX/um

diff_bpmdaX

10000

5000

=5000

. e
B | |
10000 —

ca v by e s by by s by s Ly i
=30 =20 10 0 10 20 30 40
diff_bpmdaxsum

d.
1500

1000

500

=500

=1000

=1500

=2000

plovvabvvrr b bvrre brvra beran b
—E-D 20 =10 1] 10 20 an 40
difi_bpmdaXium

]
- -~ .

2000 |-

1000 |- -

ok l.

i -
§ n

~1000 Fu i

_2000 |
i u -

_E_DDD | | L1l 11 | Ll 11 | L 11 | L1 | | L 11 | | L 11 | | L 11 |

—.‘EH} 20 =10

egressmn—w:or

10

1]

—10¢

10

o

g

20

10

1000

500

- 500

=1000

=
I|IIIIIIIIIIIIIIIIIIIIIIIIIIIIIlI

=1500

I
=
R
=
=
B

40 &0
diff_bpmda¥ium

diff_bpmdaY

10000

5000 —

5000 —

10000 —

diff_bpmda/um

1500 f—

"

1000

500

- 500

=1000

=1500

40 &0
diff_bpmda¥ium

=2000

[
=
r
=
=
B

2000

1000

=1000

=2000

Sani1387 Vs,

==
IIIIIIIII|IIIIIIIIIIIIIIIIIIII

—12C

— 1010

20

—16L

—14(

—12(0

100

20

—1&C

— 100

20

—120

—100

20

1000

500

-500

=1000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

=1500

2
5
3
o
.

40 &0
diff _bpmdeX/um

diff_bpmdeX

10000 —
5000
0
5000
= .L..
B [ | [ |
10000
AN N N T NN T T T T O B B
-60 ~&0 20 0 20 40 60

diff_bpmdaX/um

=500

=1000

=1500

=2000

2

-40 =20 1] 20 40 60

diff_bpmdeX/um
diff

000
- - .

2000~ g LR u

1000 |- 1
0 N

i n

-1000 Fu

_2000 |
B ]
- . .

diff bom:e

—120

—10C

10

—100

diff_bpmdeY

1500 [ - —1=t
B ]

1000 |- LI (P,
B ]

s00 |- -
D_—
- . 80

o0 -
C 40

~1000 |
- n s 20
: n

1500 | m
-||||||||||||||||||||||||||||||||||||||||||||||||| D

40 =30 -20 -10 0 10 20 30 40 50 B0
diff_bom4eY/um

dlff_hpméleL

1DEIEIEI
I
R [ —]
i B 14(
soon —12[
| —10t
ol m m a0
i [
| 60
=5000 —
i ] 40
! k= 5
B HNE
10000 —
|||||||||||||||||||||||||||||||||||||II|IIII|IIII D

-40 -30 20 <10 0 10 20 30 40 50 60
diff_bpmday/um

diff_bpmdeY

1000
K —110(
500
B — 80
ofF
B &0
-E-I}EI_—
1000 | 40
1500:— u
N - 20
-2000 |- L
G b bvrvberee v b v bevn bvvea e o

40 -30 -20 -10 0 10 20 30 40 50 60
diff_bpmdaY/um

diff_ Y ..

w00
2000 1
1000 [ 50
B [ |
o[ "m 60
: [ |
1000 40
N n
_2000 |- 20
B [ ] ]
- . .

n pn b bl b b b v Bevra bieng 0
—4{? -30 <20 10 0 10 20 30 40 50 60
p ng diff_bpmdeY/um

1000

200

~500

=1000

=
I|IIIIIIIIIIIIIIIIIIIIIIIIIIIIIlI

=1500

IIII|IIIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII ﬂ
50 -40 -30 -20 -10 O 10 20 30 40 50
diff_bpm12X/um

dlbepleX_

1[?EIEIU

—100

5000

=500
[ |
] [ 20
B H N
10000 —
o b bbb b b v e bra g 0
50 40 30 =20 10 O 10 20 30 40 &0
diff_bpm12X¥/um
d.
1500 |- —
1000 |
[ —{70
500
o
~500 |
1000 | 30
i 20
~1500 |-
: 10
~2000 u
Corvr v bervrbvreabvvrr b brvr bevae bvvna e 0
50 40 30 =20 10 O 10 20 30 40 &0
difi_bom12X/um
d.
3000 - o
i —l80
2000
i —0
11}UU_—
ﬂ_
—1[?DU_—
_2000 |
N 10
.']{:IEIU_"”l"”I”"l""l'“'l'”'l"”l""l”"l"" 0

-0 -40 -30 -20 -10 0 10 20 30 40 50
diff_bpm12X/um



asym_sam1

asym_sam3

asym_samd

asym_sam’7/

%

bpm4aX

: x2/ndf  50.13/46
3000 |-

- p0 -13.69 + 19.97
2000 |

C p1 -17.84 + 233
1000 | } H * |

] s

IIZII:— H H% ; +

~1000 | } {
~2000 | |
~3000 | _

_||||||||||||||I||||I||||||||||||||||||||

-30 <20 10 1] 10 20 a0 40

diff_bpm4aX

Boooa I y2/ndf 5254746
N -r_‘..P
40000 | , p0 4.359 + 23.521
20000 |- p1 -1836 £ 2.9
ok
20000 |-
40000 +“++#
| i’
| Ut
BOO0O _— T
H 11 | 1111 | L1111 I L1111 I L1111 | L1 11 | 1111 | 1111 |

30 =20 10 1] 10 20 30 40

diff_bpm4aX

¥< ! ndf 51.08/ 46
p0 10.77 £ 20.86 } }
p1 18.62 £ 2.42 }*

uf— 1 +++++ M}

: _f| HH A l} }
-1-[?[]0:— +
-2000 |-

-:mnnf—
"H}DD:|_||||||||||||||||||||||||||||||||||||_|||

30 <20 10 1] 10 20 a0 40

diff_bpmdaX

v¥/ndf  50.57/46

p0 ~10.41+ 7.31 ;’r*-

p1 460.89+ 1.0
oF

-5000 |

w000 4"
. * 4t

15000 -t
T||||||||||||I|||I||||||||||||||||||||

run3116 000 resres:

5

diff _bpmdeY

N a3 N 2 [ E
6000 |- _qu ¥/ ndf 24.06/ 30 2000 F- %2/ ndf 57.13/45 5000 |- ?{“ / ndf 19.29/ 31
- ", - -
4000 | - p0 5.611 £ 3.641 5000 - p0 -17.1+ 20.0 4000 |- ™, p0 4.323 4152
2000 F- p1 1921+ 0.4 1000 E H pl  -8.423 + 1.424 2000 F- o1 181406
of [ - of
i ok Nﬂ i +HM| | :
= 2000 | : } } - 2000
~4000 £ " oo H ~4000 |~ .,
- Y n il - N
6000 | t, - -6000 | -
. ' ~2000 { - #
8000 - ) 8000 |
10000 |~ - R 10000 |- -
12000 :_| | | | | | . 000 _| | | | | | | 12000 | | | | | 1
_4{:" 1 I-Eﬁl 1 1 ﬂ 1 1 IE_D 1 1 Im 1 1 IE.D 1 1 1 -E.DI 1 I-ml 1 I-E.DI 1 Iﬂ 11 IE.DI 1 Iml 1 IEIIDI -ml 1 I-Eﬂl 1 1 ﬂ 1 1 IE_D 1 1 Im 1 1 Iﬁﬂ
diff_bpm4ayY diff_bpmdeX diff_bpmdeY
I 2 60000 , 25000 | 2
| ! ndf 23.09/ 30 . ¥/ ndi 49.57 / 45 n ! ndf 21.02 /31
20000 [~ A 20000 *
- p0 -189.8 + 187.2 40000 [~ 1’1 pO0 9.013 £ 17.544 15000 5_ p0 -172.7 £ 187.2
10000 :_ _ p1 -118.9 £ 22.0 20000 - p1 -1115+ 1.4 10000 - p1 ~-196.2 + 25.2
: } ) | I 5000 [ Jr
- ﬂ | :
or - ol
B L } [ E - |
i + 20000 — ~5000 — { + ]l ’{
10000 A 10000 F-
i 40000 K : *
: - - " 15000 |- -
N - o 5
20000 - - 60000 T 20000 3
L I 1 1 1 | 1 1 1 | 11 1 I 11 1 | 1 1 1 | 1 1 1 :l 11 1 | 11 1 I L1 1 I L1 1 | L1 1 | L1 1 | | - 11 | | | 11 | | 1 | | | | | | 1 | | I
40 -20 0 20 40 [ 60 40 20 O 20 40 60 40 _20 0 20 40 B0
diff bpm4aY diff bpmdeX = diff bpmdeY
%2 / ndf 24.9/ 30 2/ ndf a/7.33/45 %2 / ndf 26.97 /31
p0 -9.766 + 3.880 p0 13.61x 20.91 i p0 -9.225 + 4,426
p1 200.4 + 0.5 #j;* p1 8.835 + 1.487 { p1 2275 + 0.6 ;***
4000 . 1000 |- } H 4000 | &
2000 - oF { 1 M 2000 [
: E'MHH# * *HH :
o - o
- 1000 f -
2000 | C H -2000 |
- 2000 -
~4000 — # L ~4000 — o
- “+ B - 4-+++
sooo |- o ~3000 ook
"E"DDDJ-._|||||||||||||||||||||||| ‘WDD:—I|||||||||||||||||||||||_|| 'mnn:_l-|||||||||||||||||||
40 -20 0 20 40 B0 60 40 -20 O 20 40 60 40 ~20 0 20 40 B0
%2 [ ndf 2323;3{_} ¥2 / ndf T 44.38/ 45 ¥? / ndf " 19.16/ 31
p0 25 + 46.7 } p0 —-12.77 £ 716 tpaﬂ** p0 22.19 £ 46.53
_ o -
p1 73.65 £ 549 * { p1 2/89106 p1 98.29t6.27
i LU [ -
2000 } | - oo }
°F b : 't o
2000 - - H | ~5000 [ 2000 -
- - ~4000 |- H
~4000 — 10000 |- -
- - - 6000 |-
6000 [ N C
N 15000 [ N
I_ : _B.DDU __ 11 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 I
B

sam1357 vs diff ‘bomi-fit.ong

ression asym sam

%

bpm12X

anoo r\ %2 / ndf 49.31 /42
2000 ’“H PO -25.33 +19.27
ool ]lH Pl -49.34 192
oF

1000 |- } WN{ -

- t m
-2000 |-
~3000 |- } -

: 1 | L 1 1 | L 1 1 | 1 1 1 | 1 1 1 I 1 1

~40 =20 0 20 40

diff bpmli2X
¥2 [ ndf 26.16 /42

p0 -219.7 £ 153.1 { ]

p1 91531154

20000 ‘“{I-}
B f
40000
e R i
diff bpml2X
¥2 / ndf 48.41 /42
p0 23.08 + 20.09 | | }
p1 52.63 + 2.00 +w -
uf—_ )
—11}DD§— ) _
_znnnf—
-:mnnf—
-"“}”Uf‘m...|...|...|...|..

-40 =20 0 20 40

;

[ ¥2 / ndf 28.27 / 42
10000 —

[ + p0 4395+ 40.14
5000 :— l”+++ p1 -211.9x40

o

5000 :— H} t
10000 :—

i 1 | | | | | | 1 | | 11 | | | | I_ | | |

-40 =20 0 20 40



cor saml

cor sam3

cor_samJd

cor_sam?

run3116 000 reg

diff_bpmdaX

%2 [ ndf
p0

p1

2,689 £ 3.4

0.1852 = 0.4060

46.59 / 46

200

- 200

=
T T T I T T T I LI T I LI T

- 400

| ¥t

91

_30

20 =10 1]

iff bpmd4aX

10 20 a0 40

2000 — 72/ ndf 49.75 /46
B ]l p0 17.31+£ 16.76
1000 -
S pl  —0.8315+2.2023
't A "rl |
1000 — ]L
_2000 —
~3000 — i
_| Ll | L1l 11 | L1l I L1l I L1l | L1 11 | L1 11 | |_| L1 |
30 20 10 0 10 20 30 4D

diff_bpm4aX

¥/ nf
pO

p1

—-6.5088+ 3.722

0.02423 + 0.43637

44 B2 / 46

=200

- 400

- 600

-B00

=1000

T

A

; t
I T
—_

|

-30

20 =10 1]

10 20 a0 40

diff_bpm4aX

%2/ ndf
p0

p1

-17.61+ 5.59

0.1751+ 0.7975

67.79 /46

500

=500

=1000

‘1EDTIII|IIII|IIIIIIII IIIIIlIIIIlIIIIlIIIIl

|

il

-30

20 =10

ressmn

Cor

%

1000

800

600

400

200

=200

~ 400

bpm4aY

- %2 { ndf 27.06 /30
- p0 5.026 + 3.505
= p1  —0.3682 £ 0.4117
B bt {

- WW“W’%W

T_I 11 1 | 11 1 | 11 1 I 11 1 | 11 1 | 11 1

~40 -20 0 20 40 60

°1

2000

1000

=1000

=2000

=3000

=4000

~5000

iff bpmdaY

- %2 / ndf 19.3 /30
— p0 17.31 + 17.52
- W{W pl  -1.915 + 2.066
- |"{

I: I I-I | | | L1 | | | | I L1 | | L1 | | L1 |
40 =20 (1] 20 40 &0

dlthpmAaL

E.lr['ll:“ 2813 /30
po -9.379 + 3.734 .,,HLHW
p1 0.2407 * 0.4415
~500 —
—'1-D|:I|:|_—
—'15D|:|_—
‘E{:'DDT||||||||||||||||||||||_||
=40 =2 1] 20 40 B0

400

200

=200

=400

=600

- 800

=1000

=1200

'I'IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

2 I ndf 19.09 / 30
p0 ~22.43 £6.18
pl  —0.4775+0.7274

_—
’
T
pr—d
—_—
e
?

II‘

m1357 vs diff

~Sain

diff_bpmdeX

%2 { ndf 53.34 [ 45

p0 2.672 + 3.495 )

p1 0.1164 + 0.2472 }

EL‘ID:— { -
ﬂ;_ m ++ oo h {

-EDD:— _ J

-4{?03— |

-ﬁm_‘l|||I|||I|||I|||I|||I|||I|
-0 -40 =20 0 20 40 i

g

2000

1000

=1000

= 2000

=3000

3

200

=200

- 400

-600

-B00

=1000

- %2 I ndf 54.32 [ 45

[ - h 00 14.36 = 16.78

- p1 ~0.7568 £ 1.3346

5 } s T T

LA

:l I_I_I | | I .| I | I | I | I | | 11 1 | | I | | |

60 40 20 1] 20 40 B0
diff _bpmdeX

. 2 { ndf 43.27 | 45

p0 —B.571+ 3.729

: } } JF’r —0.06994 + 0.26570

N |_| I T T T O O T B A O B

B0 40 =20 1] 20 40 B0

diff_bpmdeX

po

p1

¥ 2/ ndf

3515/ 45

-17.65 + 5.60

0.03301 + 0.48526

500

=500

=1000

-+
p— —8)
1

|
b

—E{?

bpm-

"""ﬁpng

di

.

bpmdeY

1000 |- 2/ ndf 31.13/34
800 [ p0 4.626 £ 3.512
600 [ pl  —0.3893 + 0.4744
400 -

200 - *
- i
- bttt
WWW i
oo |
aoo b A
11 | | | | | | | 1 | | | | | | 1 | | I
=& =20 o 20 &0 B0
diff_bpmdeY
[ %2/ ndf 35.41 /31
1000 |-
N | p0 15.44 + 17.55
B b
o | 1 p1 -1.517 + 2.389
L - |
000 | ﬂ } |‘
=200 :—
=3000 :—
~4000 |-
| | | | | | 1 | | 1 | | | | | | 1 | | I
=40} =20 ] 20 40 B
2 [ ndf T 3169/ 31
n0 _9.714 = 3.736
bl
pi 0.1526 + 0.5085 }
=500 :—
= 1000 u
=1500 u
'EE'DD__||||||||||||||||||_||
=40 =20 1] 20 40 B
diff _bpmdeY
800 72 { ndf 23.96 /31
600 [
: p0 22,46+ 6.19
400
300 |- pl  —0.7612 + 0.8334
of H{M{m
n 1

=200 } “ + }

400 |

~B00 |

B0 |

~1000 |

~1200 -
- 1 1 | | | | | | | 1 | | | | | | 1 | | I
-40

-20) 1] 20

40 60

diff_bpm12X

%2 [ ndf

36.34/

42

p0 3.959 + 3.514

p1 0.2544 + 0.3517

_#'

=200

~400

- 600

|

40

diff

=20

_bpm12X

0

20 40

%2 ndf 42,542
.']-I}UU_—
: p0 10.43 £ 17.46
2000 — p1  —0.1087 £1.7909
mnnf— - M |H }
I I
T *HN}
-11}UU:— ) -
|
20001
40 -20 0 20 40
diff_bpm12X
s00 |- %2 / nd 38/ 42
w0l p0 ~7.809 £ 3.730
200 — ~0.1647 £ 0.3745
MHW‘WWW |
—E-I}Df— - |
—4{?[:!3— -_ T
--EH}Df—
—-E-Dﬂlf— -
AR ENENETEN B VRN BTN B

-40

=20

0

20 40

diff_bpm12X

¥= [ ndf 46.01/ 42
p0 -19.65 1+ 6.06
p1 0122 £ 0.650 |
D:_ |I HLM kot H‘ }
Bl Al
=500 — H
1000 :— )
-1500 [ )
| | | | | | | 1 | | 1 | | | | | | I | |
T, “20 0 20 40




asym_sam1

asym_sam3

asym_samd

asym_sam’7/

8000

6000

4000

2000

=2000

-4000

-6000

~8000

10000

12000

I|III I|IIII |IIII| IIII|I III|II II|IIII
30 20 -10 O 10 20 30 40
diff_bpm4aX/um

14000

diff_

0000

40000

20000

20000

0000

60000

30 =20 -10 1] 10 20 a0 40

diff_bpmdaxsum
diff _

12000

10000

8000

6000

4000

2000

=2000

=4000

-6000

~B000

plovvabvvrr b bvrre brvra beran b
~30 20 =10 1] 10 20 an 40
difi_bpmdaXium

15000

10000

5000

=5000

10000

15000

=]
—IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

run3116 000 resres

2I'ESSIOH"’“""‘HSVHI sam

=2000

~4000

6000

~8000

10000

12000

14000

60000

40000

20000

20000

40000

60000

12000

10000

8000

6000

4000

2000

=2000

=4000

6000

-8000

15000

10000

5000

~5000

10000

15000

5

diff_bpmda¥ium

diff_bpmda/um

5

—Eﬂ

diff_bpmda¥ium

T 57-vs d

8000

6000

4000

2000

= 2000

~4000

- ,' e ':"'J".“- e
~B000
~8000
10000

12000

RN T N T T T N T A A B B
14000 a0 0

diff _bpmdeX/um

2
5
3
.
.

40000

20000

20000

40000

60000

AN N N T NN T T T T O B B
40 60
diff_bpmdeaXium

2
5
3
o
.

12000

10000

8000

6000

4000

2000

=2000

=4000

~6000

-8000

p |
40 a0
diff_bpm4eX/um

2
5
3
o
.

15000

10000

5000

~5000

10000

15000

=]
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

11 1 | 11

“bpm=scat.

= 2000

=4000

= 6000

=B000

10000

12000

14000

~40

G0000

40000

20000

20000

40000

60000

-30 <20 <10 0 10 20 30 40 50 60

diff_bom4eY/um

-40 -30 20 <10 0 10 20 30 40 50 60

91

12000

10000

8000

6000

4000

2000

1]

= 2000

=4000

= 6000

=B000

diff_bpmday/um

iff_bpmdeY

-40 -30 <20 <10 0 10 20 30 40 50 60

15000

10000

5000

= 5000

10000

15000

diff_bpmdaY/um

-40 30 20 -1 0 10 20 30 40 50 60

| 0) 0 b

diff_bpmdaey/um

8000

6000

4000

2000

= 2000

-4000

~6000

~8000

10000

12000

14000 IIIIhIIIIIII”IIIIlIHIlIIIIhllllllHlIIIIlHII

-50 -40 -30 -20

60000

40000

20000

20000

40000

60000

10 0 10 20 30 40 50
diff_bpm12X/um

50 -40 -30 -20

12000

10000

8000

6000

4000

2000

1]

=2000

=4000

~6000

-8000

=10 0 10 20 30 40 50
diff_bpm1 2X/um

50 -40 -30 -20

10 0 10 20 30 40 50
diff_bpm12X/um

diff_bpm12X

15000

10000

5000

~5000

10000

15000

==
IIIIIIIIIIIIIIIIII|IIII|IIII|IIII|IIII

-50 -40 -30 -20

=10 0 10 20 30 40 50
diff_bpm12X/um



cor_sam

cor_sam

cor_sam

cor_sam

run3116 000 r

ifL
1500 —

1000 —

00—

=500 —
=1000

=1500

30 =20 -10 1]

10000

5000 —

=5000 —

10000 —

10 20 30 40
diff_bpm4aX/um

30 =20 -10 1]

1500 f—

1000

500

=500

=1000

=1500

=2000

10 20 a0 40
diff_bpmdaxsum

30 =20 -10 1]

3000

2000

1000

~1000

2000 —

10 20 30 40
diff_bpmdaX/um

NIRRT R R FEREE NN
~S000 30 20 10 *

it

1500 1500 -
1000 1000 |-
500 :— 500 :—
of of
500 500 (-
~1000 f ~1000 |
~1500 ~1500
-||||||||||||||||||||||| -||||||||||||||||||||||||
40 —20 0 20 40 60 60  -40  -20 0 20 40 B0
diff_bpmdaYium diff_bpmdaX/um
. .
I I
10000 10000
5000 [ 5000 [ R UL PR
ok ol
_5000 5000
10000 - 10000
| | | | | | | | | | | | I 1 L1 | | L1 | | | L1 1 | L1 | | L1 1 | L1 | | L1 | | | L1 |
40 20 0 20 40 0 60 40  -20 0 20 40 B0
diff_bpmdaYium diff_bpmdaXium
. .
1500 =— 1500 =—
1000 - 1000 | '
500 [ 500
o o
~500 -500
1000 | _ ~1000 | :
1500 | 1500
_2000 2000
HENEE R T e C o v v e v v e v b b e
40 —20 0 20 40 0 60 40  -20 0 20 40 B0
diff_bpmdaYium diff_bpmdaX/um
. .
00 w00~
2000 2000
1000 | 1000 |-
ol : ol ]
~1000 |- 1000 [
2000 _2000 |
—-:'H}DD i | L1 1 | | 11

=20

egression-cor saml1357-vs diff ‘bpm-scat.p

1500 —

1000 —

00—

=500 —

=1000

~1500

-IIII|IIII|IIIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII

40 =30 -20 -10 0 10 20 30 40 50 B0
diff_bom4eY/um

iff_bpmdeY

10000

5000 —

=5000 —

10000 —

bl by b s b bis i liaag
40 -30 20 10 0 10 20 30 40 50 60
diff_bpmdea¥ium

diff_bpmdeY

1000

500

-500

= 1000

=1500

= 2000

b berer b brrer e brvnn bevaa bev v bang
40 =30 <20 =10 O 10 20 30 40 KO0 60
difi_bomdaYium

3000

2000

1000

=1000 [~

=2000

o b b b b b b v Lo i
—Eﬂﬂf_lm -30 <20 <10 0 10 20 30 40 50 60

n 2 diff_bpmdaey/um

1500

1000

200

~500

=1000

=1500

_IIII|IIIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII
50 -40 -30 -20 -10 O 10 20 30 40 50
diff_bpm12X/um

10000 —

5000 —

10000 —

o b bl b b s v Bvaaa b g
50 40 30 20 10 0 10 20 3 40 50
diff_bpm12Xium

1500

1000

500

-500

=1000

=1500

=2000

prrr v bernrbvreabvrrr e v bevae bvvea e
50 40 30 =20 10 O 10 20 30 40 &0
difi_bom12X/um

3000 —

2000 —

1000 —

=1000

=2000

—.':'I-E'EIU_"”l"”I""l”"l'”'l'”'l””l”"l””l”"
50 -40 -30 -20 -0 O 10 20 30 40 50
diff_bpm12X/um




